

$\alpha \quad r\alpha$

$$n^r - 5n + p = 0 \quad \xrightarrow{r=2} \quad r^2 n^r - 12\alpha n + 9\alpha^2 \sim r^2 n^r - a n + c$$

$$n^r - 5\alpha n + r\alpha^2 = 0 \quad 9\alpha^2 = c \quad \alpha = \pm \frac{r}{3}$$

$$a = 12\alpha \sim \left. \begin{array}{l} 12(\frac{r}{3}) = 12 \\ 12(-\frac{r}{3}) = -12 \end{array} \right\} \Delta a = (12) \checkmark$$

$$\frac{1}{\sqrt{\alpha}} + \frac{1}{\sqrt{\beta}} = 8 \Rightarrow \frac{\sqrt{5+2\sqrt{p}}}{\sqrt{p}} = 8$$

$$\frac{\sqrt{\frac{m+12}{r^4} + 2\sqrt{\frac{1}{r^4}}}}{\frac{1}{r}} = \frac{\sqrt{\frac{m+12+12}{r^4}}}{1} = \sqrt{m+24} = 8$$

$$\downarrow m = -1$$

$$m = -1 \rightarrow -n^r + 2m + r = 0$$

$$\boxed{p = -2} \checkmark$$

$$\alpha + \beta = 8 = 1$$

$$\alpha\beta = p = -2$$

$$\left. \begin{array}{l} n^r - n - r = 0 \\ \alpha = 2 \quad \beta = -1 \end{array} \right\} \xrightarrow{n = \alpha \vee \beta} -\varepsilon + k + 9 - r = 0$$

$$\boxed{k = -2} \checkmark$$

$$n^r - v n^r - \delta = 0$$

$$n^r = t$$

$$t^r - vt - \delta = 0$$

$$\Delta: \delta_1, \delta_2 = \frac{v \pm \sqrt{v^2 + 4\delta}}{2}, \quad t = n^r \xrightarrow{t < 0} t = n^r = \frac{v + \sqrt{v^2 + 4\delta}}{2}$$

$$n = \pm \sqrt{\frac{v + \sqrt{v^2 + 4\delta}}{2}} \rightarrow \boxed{p = -\frac{(v + \sqrt{v^2 + 4\delta})}{2}}$$

$$\alpha + \beta = -\frac{4}{1} = -4 \quad S$$

$$\alpha\beta = \frac{9}{1} = 9 \quad P$$

$$\beta = -4 - \alpha$$

$$\left. \begin{array}{l} r\alpha^r + r(-4-\alpha)^r = 12\sqrt{2} + 10 \\ \alpha^r + 2\alpha + 4r = 12\sqrt{2} + 10 \end{array} \right\} \Rightarrow \frac{5\alpha^r + 2r\alpha - 12\sqrt{2} - 10}{12\sqrt{2} + 10} = 0$$

$$\Rightarrow \alpha = -2 - 2\sqrt{2} \rightarrow \beta = -4 - \alpha = -2 + 2\sqrt{2} \quad \alpha < \beta < 0$$

$$\rightarrow n^r + 4n + p = 0$$

$$\boxed{1} \checkmark$$

$$ran^r + an - 4 = 0 \quad r_m^r - an + b = 0$$

$$S_1 = \frac{-a}{r_a} = -\frac{1}{r} \xrightarrow{S_r + S_1 + r(\frac{1}{r})} S_1 = \frac{1}{r} = \frac{a}{r} \rightarrow a=1 \Rightarrow r_m^r - an + b = 0$$

$$\left\{ \frac{1}{r}, \alpha, \beta \right\} \xrightarrow{+\frac{1}{r}} \alpha + \frac{1}{r} \quad \beta + \frac{1}{r} \Rightarrow P = \alpha \beta + (\alpha + \frac{1}{r})(\beta + \frac{1}{r}) + \frac{1}{r} = -r - \frac{1}{r} + \frac{1}{r} = -r$$

($ran^r + an - 4 = 0$)

$$\Rightarrow P_r = \frac{b}{r} = -r \Rightarrow \boxed{b = -4} \quad \left[\frac{a}{r} \right] = \left[\frac{1}{r} \right] = \boxed{-4}$$

$$\left. \begin{array}{l} an^r - an - b = 0 \\ a\beta^r - a\beta - b = 0 \end{array} \right\} \Rightarrow S = \frac{a}{\alpha} = 1 \Rightarrow \alpha = 1 - \beta$$

$$\left. \begin{array}{l} \epsilon \cdot \beta^r + r \cdot \alpha^r - r \cdot \beta = 1V \\ \epsilon \cdot \beta^r + r \cdot (1 - \beta)^r - r \cdot \beta = 1V \end{array} \right\} \Rightarrow r \cdot \beta^r - r \cdot \beta + 1 = 0$$

$$a\beta^r = a\beta + b \xrightarrow{\div a} \beta^r = \beta + \frac{b}{a} \quad \beta^r = \beta + \frac{b}{a} \Rightarrow r \cdot \beta^r = r \cdot \beta + r \cdot \frac{b}{a}$$

$$(r \cdot \beta + r \cdot \frac{b}{a}) - r \cdot \beta + 1 = 0 \Rightarrow \frac{b}{a} = -\frac{1}{r} \quad \frac{\sqrt{\Delta}}{|a|} = \frac{\sqrt{(-a)^r - 2(a)(-b)}}{|a|} = \frac{\sqrt{ar + \epsilon ab}}{|a|}$$

$$|\alpha - \beta| = \frac{|\alpha| \sqrt{1 + \epsilon^2 \frac{b}{a}}}{|\alpha|} \sim |\alpha - \beta| = \sqrt{1 + \epsilon^2 \frac{b}{a} \cdot \frac{1}{r}} = \sqrt{\frac{\epsilon}{r}} = \frac{r}{\sqrt{r}} = \boxed{\frac{r\sqrt{r}}{r}} \checkmark$$

$$n^r - (a+1)n + a = 0$$

$$\begin{array}{c} k \quad k+r \\ \text{فرجه} \end{array} \quad n^r - S_1 n + P = n^r - (r_k + r)n + k^r + r = n^r - (a+1)n + a$$

$$rk + r = (k^r + rk) + 1 \Rightarrow k^r = 1 \quad k = \pm 1$$

$$r \cdot \left[n^r - \epsilon n + r = 0 \right] \quad \textcircled{1} \text{ ملاحظة } \sim k=1 \sim$$

$$\left[n^r - 1 \cdot n + r = 0 \right] \Rightarrow (n-1)(n-\epsilon) = 0 \Rightarrow b = r\epsilon$$

$$\left[\begin{array}{c} k=1 \\ \frac{1}{-1} \quad \frac{r}{-1} \quad \checkmark \\ \Rightarrow k=1 \quad \checkmark \end{array} \right] \quad \textcircled{*}$$

$$\begin{array}{l} n^r - \epsilon n + r = 0 \\ n^r - 1 \cdot n + r = 0 \\ P_1 = r \\ P_r = r\epsilon \\ \Delta = r1 \end{array} \checkmark$$

$$\alpha^r + \beta^r = S - rP$$

$$\text{!! كبرين قنلا !!} \quad S = \frac{-1}{1} = -1, \quad S^r = 1$$

$$\min(1 - rP) = ? \quad P \rightarrow \max \quad -m^r - 1 = 0 \quad \frac{-b}{ra} = 0 \xrightarrow{m=0} \max P = \underline{-1}$$

$$1 - r(-1) = \boxed{r} \checkmark$$

$$y_1 = 1$$

$$n_1 = \frac{-\partial + r}{r} = -1$$

$$a(n - n_1)^r + y_1 = a(n+1)^r + 1 = 0$$

$$a(n^r + rn + 1) + 1 = an^r + ram + (a+1) = 0$$

$$\alpha^r + \beta^r = S - rP = \left(\frac{-r}{a} \right)^r - r \left(\frac{a+1}{a} \right) = 0 \Rightarrow \alpha = \frac{-r}{r}$$

$$\frac{-r}{r} n^r + \left(\frac{-\epsilon}{r} \right) n + \left[\frac{1}{r} \right] \rightarrow \frac{-r}{r} + 1 = \boxed{\frac{1}{r}} \checkmark$$